John 1:1
Matthew 12:23



 is the continuative use of the conjunction KAI, meaning “And,” followed by the third person plural imperfect middle indicative from the verb EXISTĒMI, meaning “to be amazed; to be astounded; to be astonished.”


The imperfect tense is a durative imperfect, which indicates a continuing past action without reference to a conclusion.  This should be translated “kept on being amazed.”


The middle voice is an indirect or dynamic middle, which emphasizes the personal responsibility of the crowds in producing the action.


The indicative mood is declarative for a simple statement of fact.

Next we have the nominative subject from the masculine plural adjective PAS plus the article and noun OCHLOS, meaning “all the crowds.”  This is followed by the additive use of the conjunction KAI, meaning “and” plus the third person plural imperfect active indicative of the verb LEGW, which means “to say: kept on saying.”  The morphology is the same with the exception of the active voice, which indicates that the crowds kept on producing the action of saying something.

“And all the crowds kept on being amazed, and kept on saying,”
 is the negative interrogative particle MĒTI, which “invites a negative response to the question that it introduces.  A variety of resources (including adverbs, auxiliary verbs, and accentuation) can be used to render the force of this particle: for example: surely they do not gather…, do they? Mt 7:16; 26:22, 25; Mk 4:21; 14:19; Lk 6:39; Jn 8:22; 18:35; Acts 10:47; 2 Cor 12:18; Jam 3:11.  It is also used in questions in which the questioner is in doubt concerning the answer: perhaps Mt 12:23; Jn 4:29.”
  With this we have the nominative subject from the masculine singular demonstrative pronoun HOUTOS, meaning “This man.”  Next we have the third person singular present active indicative from the verb EIMI, meaning “to be: is.”


The present tense is an aoristic present, which describes the state of being as a negative fact.


The active voice indicates that Jesus produces the state of not being something in the minds of these people.


The indicative mood is an interrogative indicative, which is used in questions that can be answered by providing factual information.

This is followed by the predicate nominative from the masculine singular article and noun HUIOS with the genitive of relationship/identity from the masculine singular proper noun DAUID, meaning “the Son of David.”
“‘This man is not the Son of David, is he?’”
Mt 12:23 corrected translation
“And all the crowds kept on being amazed, and kept on saying, ‘This man is not the Son of David, is he?’”
Explanation:
1.  “And all the crowds kept on being amazed, and kept on saying,”

a.  Jesus has just healed a demon-possessed man, who was also both blind and mute.  It was an amazing and irrefutable demonstration of the power and grace of God in an instant of time in front of hundreds, if not thousands, of people.  The miracle was undeniable.


b.  Thus the reaction of ‘all the crowds’ not just some people in the crowds, was amazement and astonishment.  They saw and heard it with their own eyes and ears, and were astounded by what they saw and heard.  And this reaction didn’t just last for a moment, but continued without any stated conclusion.  They kept on being amazed.


c.  This amazed and astonished state of mind also caused them to kept on asking the same question, over and over to themselves and others.

2.  “‘This man is not the Son of David, is he?’”

a.  Matthew then quotes the question that was on everyone’s lips in the crowds.


b.  The question is not one of positive volition to the person of Jesus.  They are not asking whether or not Jesus is the Son of David; for that would require the subjunctive mood and we have no subjunctive mood here.  The question also is not looking for a positive or affirmative answer.  They are not asking if Jesus is the Son of David and expecting a ‘Yes’ answer.  The negative MĒTI is the combination of the negative MĒ, meaning ‘no, not, etc.’ and the interrogative particle TIS, which introduces a question, ‘who?’, ‘what?’, etc.  The crowd is asking if Jesus is the Son of David and expecting the answer, “No, he is not.”  The crowds don’t believe that Jesus is the Son of David, and the Pharisees are going to support their expectation of a negative answer by asserting that Jesus can perform such miracles if he is in league with the devil.  The basic negative concept of this question is: “This man cannot possibly be the Messiah, can He?” and expects the answer: “No!”


c.  The title ‘Son of David’ is important, because it is a title related to Jesus’ legitimate right to the throne of David.  The King of the Jews must be in the line of David as a genetic ‘Son of David’.  These people don’t believe that Jesus is the King of the Jews, because He is not doing anything to overthrow the Roman rule and declare Himself ‘King’.  He is healing people, but doing nothing more to declare Himself ‘the Son of David’ and ‘King of Israel’.  Therefore, how can He really be the ‘Son of David’?  Therefore, the question of the crowd, “Is this man really the Son of David?,” which expects a negative answer, which the Pharisees will gladly provide.

3.  Commentators’ comments.


a.  “All the crowds were astonished and asked, ‘Could this be the Son of David?’ [‘Could’ requires a subjunctive mood, which the passage does not have.]  In other words, “Is not this the promised Messiah…? [That question expects an affirmative answer and requires OU/OUK/OUCH.]”
  When the negative OU (or its other forms) are used in a question, the question expects an affirmative answer.  When MĒ is used, the question expects a negative answer.


b.  “The multitude did not miss the significance of this miracle.  Their question, ‘Is this the son of David?’ was a specific inquiry as to whether Jesus was the promised and anticipated Davidic Messiah.”
  This commentator’s question ignores the negative adverb MĒTI as though it were not in the Greek text.

c.  “While popular thought would concentrate on the role of the Son of David as Israel’s ideal king and liberator, Matthew also indicates His role as a healer.  Jesus fulfilled that role, but was conspicuously not the conquering and ruling Messiah of popular expectation; hence the crowd’s puzzlement—the question is introduced by mēti, which formally suggests the answer ‘No’, but leaves open the possibility that it may be ‘Yes’.”


d.  “The wording in the Greek suggests more skepticism than before and could fairly be translated, This man isn’t the Son of David, is he?  The increasingly widespread rejection of Christ implied in Mt 11:16–24 is thus illustrated.”
  This commentator correctly sees the question as requiring a negative answer.

e.  “The people were astonished.  Characteristically Matthew says that all had this experience, and he uses the plural for crowds.  Matthew emphasizes the impact of what Jesus had done; not just a handful of the people were affected but all the crowds.  This is the one place in his Gospel where Matthew says that Jesus had this effect on the crowds.  He is describing something very unusual, which may explain the strong reaction of the Pharisees and the discussion that followed. The response of the people is crystallized in a question: “Can this be the Son of David?” The question is worded in such a way as to indicate a measure of perplexity, but also to open the door to an interesting possibility.  Jesus was so unlike what they expected in the Messiah, but could he yet really be the Son of David?  [A subjunctive mood question, which the syntax does not support.]  Like the Pharisees they probably did not look for the Messiah in such a person as the Man from Nazareth, but unlike them they were open-minded enough to ask the question. They are clearly using the expression ‘Son of David’ as equivalent to ‘Messiah,’ and they are so impressed by the miracle they had witnessed that they wonder whether they are in the presence of the Messiah.”
  This whole line of reasoning is based upon assuming an affirmative answer to the question is possible, which it is not!

f.  “The interrogative MĒTI has a negative implication: ‘We can hardly think so.’  At the same time it conveys the idea that this negation is quite doubtful [that requires a subjunctive mood]: ‘It seems as though He is after all’.”
  You can’t have it both ways.
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